

b)

P	Q	R	$(\neg P \vee (\neg Q \rightarrow R))$	\rightarrow	$((P \& R) \rightarrow \neg Q)$
T	T	T	F T T F T T T	F	T T T F F T
T	T	F	F T T F T T F	T	T F F T F T
T	F	T	F T T T F T T	T	T T T T T F
T	F	F	F T F T F F F	T	T F F T T F
F	T	T	T F T F T T T	T	F F T T F T
F	T	F	T F T F T T F	T	F F F T F T
F	F	T	T F T T F T T	T	F F T T T F
F	F	F	T F T T F F F	T	F F F T T F

5.

a) The first sentence does not imply the second as the third row of the truth table shows:

P	Q	R	$(P \& Q)$	\leftrightarrow	$(Q \& R)$	P	\leftrightarrow	Q
T	T	T	T T T	T	T T T	T	T	T
T	T	F	T T T	F	T F F	T	T	T
T	F	T	T F F	T	F F T	T	F	F
T	F	F	T F F	T	F F F	T	F	F
F	T	T	F F T	F	T T T	F	F	T
F	T	F	F F T	T	T F F	F	F	T
F	F	T	F F F	T	F F T	F	T	F
F	F	F	F F F	T	F F F	F	T	F

b) The first sentence does indeed imply the second as the truth table shows:

P	Q	R	P	\leftrightarrow	$(Q \vee R)$	$\neg P$	\rightarrow	$(Q \leftrightarrow R)$
T	T	T	T	T	T T T	F T T	T	T T T
T	T	F	T	T	T T F	F T T	T	T F F
T	F	T	T	T	F T T	F T T	T	F F T
T	F	F	T	F	F F F	F T T	T	F T F
F	T	T	F	F	T T T	T F T	T	T T T
F	T	F	F	F	T T F	T F F	T	T F F
F	F	T	F	F	F T T	T F F	T	F F T
F	F	F	F	T	F F F	T F T	T	F T F

6.

P	Q	P	$\#$	Q	$(\neg P \& Q)$	\vee	$(P \& \neg Q)$
T	T	T	F	T	F T F T	F	T F F T
T	F	T	T	F	F T F F	T	T T T F
F	T	F	T	T	T F T T	T	F F F T
F	F	F	F	F	T F F F	F	F F T F